1)Převeďte jednotky na základní:
	1) 4 852 mm =

2) 840 dm =

3) 631 cm =

4) 8 134 mm2 =

5) 7 164 cm2 =

6) 512 dm2 =

7) 11 a =

8) 0,4 ha =

9) 17,8 hl =

10) 6 230 l =
	11)  785 dm3 = 

12) 1,4 kW =

13) 0,625 MJ =

14) 54,1 kN =

15) 5 min =

16) 4,25 min =

17) 0,5 h =

18) 2,7 g/cm3 =

19) 72 km/h =

20) 0,15 t =


2) Doplňte:

	Název
	Značka
	Základní jednotka
	Vedlejší jednotka

	Obsah
	
	
	

	
	
	1 kg
	

	
	
	
	1 km

	
	V
	
	

	
	
	1 Pa
	

	
	
	
	1 mA

	
	F
	
	

	Práce
	
	
	

	
	
	1 W
	

	
	U
	
	

	
	
	
	1 kΩ

	
	t
	
	

	
	
	1 °C
	

	Teplo
	
	
	

	
	
	
	1 g/cm3

	
	
	1 m/s
	


